



On New Generalized Fractional Integral Operators and Related Fractional Inequalities

Tuba Tunç^{1*}, Hüseyin Budak¹, Fuat Usta¹ and Mehmet Zeki Sarıkaya¹

¹Department of Mathematics, Faculty of Science and Arts, Düzce University, Düzce, Turkey

*Corresponding author

Abstract

In this paper, we define the generalized k -fractional integrals of a function with respect to the another function which generalizes many different types of fractional integrals such as Riemann-Liouville fractional, Hadamard fractional integrals, Katugampola fractional integral, (k, s) -fractional integral operators. Moreover, we obtain Hermite-Hadamard inequalities utilizing k -fractional integrals of a function with respect to the another function. We also investigate trapezoid inequalities for the functions whose derivatives in absolute value are convex. Finally, some special cases of these inequalities are given.

Keywords: Fractional integral operators, Hermite-Hadamard inequality, midpoint inequality, convex function.

2010 Mathematics Subject Classification: 26D15, 26A33, 26B25, 26D10.

1. Introduction

The Hermite-Hadamard inequality is one of the most well established inequalities in the theory of convex functions with a geometrical interpretation and many applications. Numerous mathematicians have devoted their efforts to generalise, refine, counterpart and extend it for different classes of functions such as using convex mappings.

The inequalities discovered by C. Hermite and J. Hadamard for convex functions are very important in the literature (see, e.g., [13, p.137], [7]). These inequalities state that if $f : I \rightarrow \mathbb{R}$ is a convex function on the interval I of real numbers and $a, b \in I$ with $a < b$, then

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a)+f(b)}{2}. \quad (1.1)$$

Both inequalities hold in the reversed direction if f is concave. We note that Hadamard's inequality may be regarded as a refinement of the concept of convexity and it follows easily from Jensen's inequality. Hadamard's inequality for convex functions has received renewed attention in recent years and a remarkable variety of refinements and generalizations have been studied (see, for example, [3]-[5], [8]-[10], [16]-[20]).

In [6] Diaz and Pariguan have defined k -gamma function Γ_k that is generalization of the classical gamma. Γ_k is given by formula

$$\Gamma_k(x) = \lim_{n \rightarrow \infty} \frac{n! k^n (nk)^{\frac{x}{k}-1}}{(x)_{n,k}} \quad k > 0.$$

It has shown that Mellin transform of the exponential function $e^{-\frac{t^k}{k}}$ is the k -gamma function, clearly given by

$$\Gamma_k(\alpha) := \int_0^\infty e^{-\frac{t^k}{k}} t^{\alpha-1} dt.$$

Obviously, $\Gamma_k(x+k) = x\Gamma_k(x)$, $\Gamma(x) = \lim_{k \rightarrow 1} \Gamma_k(x)$ and $\Gamma_k(x) = k^{\frac{x}{k}-1} \Gamma\left(\frac{x}{k}\right)$.

The overall structure of the study takes the form of four sections including introduction. The remaining part of the paper proceeds as follows: In Section 2, we introduce generalized k -fractional integrals of a function with respect to the another function which generalizes different types of fractional integrals, including Riemann-Liouville fractional, Hadamard fractional integrals, Katugampola fractional integral, (k, s) -fractional integral operators and many others. In section 3, the Hermite-Hadamard type inequalities for convex functions via generalized k -fractional integrals of a function with respect to the another function are presented while in section 4 trapezoid type inequalities for functions whose derivatives in absolute value are convex with this type fractional integral operators are obtained and we also provide some corollary for theorems.

2. New Generalized Fractional Integral Operators

In this section we present the concept of the generalized k -fractional integrals of a function with respect to the another function. We first define the function

$$\mathcal{F}_{\rho,\lambda}^{\sigma,k}(x) := \sum_{m=0}^{\infty} \frac{\sigma(m)}{k\Gamma_k(\rho km + \lambda)} x^m \quad (\rho, \lambda > 0; |x| < \mathcal{R}),$$

where the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers and \mathcal{R} is the set of real numbers.

Definition 2.1. For $k > 0$, let $g : [a, b] \rightarrow \mathbb{R}$ be an increasing and positive monotone function on (a, b) , having a continuous derivative $g'(x)$ on (a, b) . The left and right sided generalized k -fractional integrals of f with respect to the function g on $[a, b]$ are defined, respectively, as follows:

$$\mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} f(x) = \int_a^x \frac{g'(t)}{(g(x) - g(t))^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(x) - g(t))^\rho] f(t) dt, \quad x > a, \quad (2.1)$$

and

$$\mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} f(x) = \int_x^b \frac{g'(t)}{(g(t) - g(x))^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(t) - g(x))^\rho] f(t) dt, \quad x < b, \quad (2.2)$$

where $\lambda, \rho > 0, \omega \in \mathbb{R}$.

The significant special cases of the integral operators (2.1) and (2.2) are mentioned below:

1) For $k = 1$, operator in (2.1) leads to generalized fractional integral of f with respect to the function g on $[a, b]$. This relation is given by

$$\mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,g} f(x) = \int_a^x \frac{g'(t)}{(g(x) - g(t))^{1-\lambda}} \mathcal{F}_{\rho,\lambda}^{\sigma} [\omega(g(x) - g(t))^\rho] f(t) dt, \quad x > a.$$

2) For $g(t) = t$, operator in (2.1) leads to generalized k -fractional integral of f . This relation is given by

$$\mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k} f(x) = \int_a^x (x-t)^{\frac{\lambda}{k}-1} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(x-t)^\rho] f(t) dt, \quad x > a.$$

3) For $g(t) = \ln t$, operator in (2.1) leads to generalized Hadamard k -fractional integral of f . This relation is given by

$$\mathcal{H}_{\rho,\lambda,a+;\omega}^{\sigma,k} f(x) = \int_a^x \left(\ln \frac{x}{t}\right)^{\frac{\lambda}{k}-1} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega \left(\ln \frac{x}{t}\right)^\rho] f(t) \frac{dt}{t}, \quad x > a.$$

4) For $g(t) = \frac{t^{s+1}}{s+1}$, $s \in \mathbb{R} - \{-1\}$ operator in (2.1) leads to generalized (k, s) -fractional integral of f . This relation is given by

$$\mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k} f(x) = (s+1)^{1-\frac{\lambda}{k}} \int_a^x \left(x^{s+1} - t^{s+1}\right)^{\frac{\lambda}{k}-1} t^s \mathcal{F}_{\rho,\lambda}^{\sigma,k} \left[\omega \left(\frac{x^{s+1} - t^{s+1}}{s+1}\right)^\rho\right] f(t) dt, \quad x > a.$$

Remark 2.2. Similarly, all above special cases can also be seen for operator (2.2).

Remark 2.3. For $k = 1$ and $g(t) = t$, operators in (2.1) and (2.2) reduce to the following generalized fractional integral operators defined by Raina [14] and Agarwal et. al [1], respectively:

$$\mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma} f(x) = \int_a^x (x-t)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} [\omega(x-t)^\rho] f(t) dt, \quad x > a, \quad (2.3)$$

$$\mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma} f(x) = \int_x^b (t-x)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^{\sigma} [\omega(t-x)^\rho] f(t) dt, \quad x < b, \quad (2.4)$$

Remark 2.4. One can obtain other new generalized fractional integral operators with different choices of g .

Remark 2.5. For $\lambda = \alpha$, $\sigma(0) = 1$, $w = 0$ in Definition 2.1, then we have the generalized fractional operators defined by Akkurt et al. in [2].

Remark 2.6. Let $\lambda = \alpha$, $\sigma(0) = 1$, $w = 0$ in Definition 2.1.

- 1) Choosing $k = 1$, then we have fractional integrals of a function f with respect to function g . [11].
- 2) Choosing $g(t) = t$, then we have k -fractional integrals [12].
- 3) Choosing $k = 1$ and $g(t) = \ln t$, then we have Hadamard fractional integrals [11].
- 4) Choosing $g(t) = \frac{t^{s+1}}{s+1}$, $s \in \mathbb{R} - \{-1\}$, then we have (k, s) -fractional integral operators [15].
- 5) Choosing $k = 1$ and $g(t) = \frac{t^{s+1}}{s+1}$, $s \in \mathbb{R} - \{-1\}$, then we have Katugampola fractional integral operators [10].
- 6) Choosing $k = 1$ and $g(t) = t$, then we have Riemann-Liouville fractional integral operators [11].

3. Hermite-Hadamard Inequalities for Generalized Fractional Integral Operators

In this part, we obtain Hermite-Hadamard inequalities for the generalized k -fractional integrals of a function with respect to the another function.

Firstly, let us start with some notations given in [9]. Let $f : I^\circ \rightarrow \mathbb{R}$ be a function such that $a, b \in I^\circ$ and $0 < a < b < \infty$. We suppose that $f \in L^\infty(a, b)$ in such a way that $I_{a^+;g}^\alpha f(x)$ and $I_{b^-;g}^\alpha f(x)$ are well defined. We define the function

$$\tilde{f}(x) = f(a+b-x), \quad x \in [a, b]$$

$$F(x) = f(x) + \tilde{f}(x), \quad x \in [a, b].$$

In Definition 2.1, using the change of variable $s = \frac{\tau-a}{x-a}$, we have

$$\mathcal{J}_{\rho,\lambda,a^+;\omega}^{\sigma,k,g} f(x) = \int_0^1 \frac{(x-a)g'((1-s)a+sx)}{[g(x)-g((1-s)a+sx)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(x)-g((1-s)a+sb))^\rho] f(sx+(1-s)a) ds. \quad (3.1)$$

Similarly, using the change of variable $s = \frac{\tau-x}{b-x}$, we have

$$\mathcal{J}_{\rho,\lambda,b^-;\omega}^{\sigma,k,g} f(x) = \int_0^1 \frac{(b-x)g'((1-s)x+sb)}{[g((1-s)x+sb)-g(x)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g((1-s)x+sb)-g(x))^\rho] f(sb+(1-s)x) ds \quad (3.2)$$

Theorem 3.1. Let $g : [a, b] \rightarrow \mathbb{R}$ be an increasing and positive monotone function on (a, b) , having a continuous derivative $g'(x)$ on (a, b) . If f is a convex on $[a, b]$, then the following Hermite-Hadamard type inequalities for generalized k -fractional integrals of f with respect to the function g on $[a, b]$ hold:

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{4k(g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b)-g(a))^\rho]} \left[\mathcal{J}_{\rho,\lambda,b^-;\omega}^{\sigma,k,g} F(a) + \mathcal{J}_{\rho,\lambda,a^+;\omega}^{\sigma,k,g} F(b) \right] \leq \frac{f(a)+f(b)}{2} \quad (3.3)$$

where $\lambda, \rho > 0$, $\omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Proof. Since f is an convex mapping on $[a, b]$, we have

$$f\left(\frac{x+y}{2}\right) \leq \frac{f(x)+f(y)}{2} \quad (3.4)$$

for $x, y \in [a, b]$. Now, for $s \in [0, 1]$, let $x = sa + (1-s)b$ and $y = (1-s)a + sb$. Then we have

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{2}f(sa+(1-s)b) + \frac{1}{2}f((1-s)a+sb). \quad (3.5)$$

Multiplying both sides of (3.5) by

$$(b-a) \frac{g'((1-s)a+sb)}{[g(b)-g((1-s)a+sb)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(b)-g((1-s)a+sb))^\rho]$$

and integrating over $(0, 1)$ with respect to s , we find that

$$f\left(\frac{a+b}{2}\right) (b-a) \int_0^1 \frac{g'((1-s)a+sb)}{[g(b)-g((1-s)a+sb)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(b)-g((1-s)a+sb))^\rho] ds \quad (3.6)$$

$$\leq \frac{b-a}{2} \int_0^1 \frac{g'((1-s)a+sb)}{[g(b)-g((1-s)a+sb)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(b)-g((1-s)a+sb))^\rho] f(sa+(1-s)b) ds$$

$$+ \frac{b-a}{2} \int_0^1 \frac{g'((1-s)a+sb)}{[g(b)-g((1-s)a+sb)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(b)-g((1-s)a+sb))^\rho] f((1-s)a+sb) ds.$$

Using the change of the variable $x = g(b) - g((1-s)a+sb)$, we deduce that

$$\int_0^1 \frac{g'((1-s)a+sb)}{[g(b)-g((1-s)a+sb)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(b)-g((1-s)a+sb))^\rho] ds = \frac{1}{b-a} \int_0^{g(b)-g(a)} x^{\frac{\lambda}{k}-1} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega x^\rho] ds \quad (3.7)$$

$$= \frac{k}{b-a} x^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega x^\rho] \Big|_0^{g(b)-g(a)}$$

$$= \frac{k}{b-a} (g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b)-g(a))^\rho].$$

Using the (3.1), we have

$$(b-a) \int_0^1 \frac{g'((1-s)a+sb)}{[g(b)-g((1-s)a+sb)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(b)-g((1-s)a+sb))^\rho] f(sa+(1-s)b) ds = \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} \tilde{f}(b) \tag{3.8}$$

and

$$(b-a) \int_0^1 \frac{g'((1-s)a+sb)}{[g(b)-g((1-s)a+sb)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g(b)-g((1-s)a+sb))^\rho] f((1-s)a+sb) ds = \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} f(b). \tag{3.9}$$

Substituting the equalities (3.7)-(3.9) into (3.6), we find that

$$kf\left(\frac{a+b}{2}\right) (g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b)-g(a))^\rho] \leq \frac{1}{2} \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} f(b) + \frac{1}{2} \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} \tilde{f}(b).$$

That is

$$kf\left(\frac{a+b}{2}\right) (g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b)-g(a))^\rho] \leq \frac{1}{2} \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} F(b). \tag{3.10}$$

Similarly, multiplying both sides of (3.5) by

$$(b-a) \frac{g'((1-s)a+sb)}{[g((1-s)a+sb)-g(a)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g((1-s)a+sb)-g(a))^\rho]$$

and integrating over (0, 1) with respect to s, we find that

$$f\left(\frac{a+b}{2}\right) (b-a) \int_0^1 \frac{g'((1-s)a+sb)}{[g((1-s)a+sb)-g(a)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g((1-s)a+sb)-g(a))^\rho] ds \tag{3.11}$$

$$\leq \frac{b-a}{2} \int_0^1 \frac{g'((1-s)a+sb)}{[g((1-s)a+sb)-g(a)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g((1-s)a+sb)-g(a))^\rho] f(sa+(1-s)b) ds$$

$$+ \frac{b-a}{2} \int_0^1 \frac{g'((1-s)a+sb)}{[g((1-s)a+sb)-g(a)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g((1-s)a+sb)-g(a))^\rho] f((1-s)a+sb) ds.$$

Using the change of the variable $x = g((1-s)a+sb) - g(b)$, we find that

$$\int_0^1 \frac{g'((1-s)a+sb)}{[g((1-s)a+sb)-g(a)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g((1-s)a+sb)-g(a))^\rho] ds = \frac{k}{b-a} (g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b)-g(a))^\rho]. \tag{3.12}$$

Using the (3.2), we have

$$(b-a) \int_0^1 \frac{g'((1-s)a+sb)}{[g((1-s)a+sb)-g(a)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g((1-s)a+sb)-g(a))^\rho] f(sa+(1-s)b) ds = \mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} \tilde{f}(a) \tag{3.13}$$

and

$$(b-a) \int_0^1 \frac{g'((1-s)a+sb)}{[g((1-s)a+sb)-g(a)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} [\omega(g((1-s)a+sb)-g(a))^\rho] f((1-s)a+sb) ds = \mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} f(a). \tag{3.14}$$

Substituting the equalities (3.12)-(3.14) into (3.11), we find that

$$kf\left(\frac{a+b}{2}\right) (g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b)-g(a))^\rho] \leq \frac{1}{2} \mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} f(a) + \frac{1}{2} \mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} \tilde{f}(a)$$

which yields

$$kf\left(\frac{a+b}{2}\right) (g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b)-g(a))^\rho] \leq \frac{1}{2} \mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} F(a). \tag{3.15}$$

Combining (3.10) and (3.15), we obtain

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{4k(g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b)-g(a))^\rho]} \left[\mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} F(a) + \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} F(b) \right].$$

Thus, the proof of first inequality is completed.

For the proof of the second inequality in (3.3), since f is convex, we have

$$f(sa + (1-s)b) \leq sf(a) + (1-s)f(b)$$

and

$$f((1-s)a + sb) \leq (1-s)f(a) + sf(b).$$

By adding these inequalities, we have

$$f(sa + (1-s)b) + f((1-s)a + sb) \leq f(a) + f(b). \quad (3.16)$$

Multiplying both sides of (3.16) by

$$(b-a) \frac{g'((1-s)a + sb)}{[g(b) - g((1-s)a + sb)]^{1-\frac{1}{k}}} \mathcal{F}_{\rho, \lambda}^{\sigma, k} [\omega(g(b) - g((1-s)a + sb))^\rho]$$

and integrating the resulting inequality with respect to s over $(0, 1)$, we have

$$(b-a) \int_0^1 \frac{g'((1-s)a + sb)}{[g(b) - g((1-s)a + sb)]^{1-\frac{1}{k}}} \mathcal{F}_{\rho, \lambda}^{\sigma, k} [\omega(g(b) - g((1-s)a + sb))^\rho] f(sa + (1-s)b) ds \quad (3.17)$$

$$+ (b-a) \int_0^1 \frac{g'((1-s)a + sb)}{[g(b) - g((1-s)a + sb)]^{1-\frac{1}{k}}} \mathcal{F}_{\rho, \lambda}^{\sigma, k} [\omega(g(b) - g((1-s)a + sb))^\rho] f((1-s)a + sb) ds$$

$$\leq [f(a) + f(b)] (b-a) \int_0^1 \frac{g'((1-s)a + sb)}{[g(b) - g((1-s)a + sb)]^{1-\frac{1}{k}}} \mathcal{F}_{\rho, \lambda}^{\sigma, k} [\omega(g(b) - g((1-s)a + sb))^\rho] ds.$$

Substituting the equalities (3.7)-(3.9) into (3.17), we find that

$$\mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, k, g} F(b) \leq k[f(a) + f(b)] (g(b) - g(a))^{\frac{1}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]. \quad (3.18)$$

Similarly, multiplying both sides of (3.16) by

$$(b-a) \frac{g'((1-s)a + sb)}{[g((1-s)a + sb) - g(a)]^{1-\frac{1}{k}}} \mathcal{F}_{\rho, \lambda}^{\sigma, k} [\omega((1-s)a + sb - g(a))^\rho]$$

and integrating the resulting inequality with respect to s over $(0, 1)$, we have

$$\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, k, g} F(a) \leq k[f(a) + f(b)] (g(b) - g(a))^{\frac{1}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]. \quad (3.19)$$

Adding the inequalities of (3.18) and (3.19), we deduce that

$$\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, k, g} F(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, k, g} F(b) \leq 2k[f(a) + f(b)] (g(b) - g(a))^{\frac{1}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]$$

which yields

$$\frac{1}{4k(g(b) - g(a))^{\frac{1}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]} \left[\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, k, g} F(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, k, g} F(b) \right] \leq \frac{f(a) + f(b)}{2}.$$

The proof is completely completed. \square

Corollary 3.2. If we choose $k = 1$ in Theorem 3.1, then we obtain following inequality for generalized fractional integrals with respect to the another function

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{4(g(b) - g(a))^\lambda \mathcal{F}_{\rho, \lambda+1}^{\sigma} [\omega(g(b) - g(a))^\rho]} \left[\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, g} F(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, g} F(b) \right] \leq \frac{f(a) + f(b)}{2}$$

where $\lambda, \rho > 0$, $\omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Corollary 3.3. If we choose $g(t) = t$ in Theorem 3.1, then we obtain following inequality for generalized k -fractional integrals

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{4k(b-a)^{\frac{1}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(b-a)^\rho]} \left[\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, k} F(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, k} F(b) \right] \leq \frac{f(a) + f(b)}{2}$$

where $\lambda, \rho > 0$, $\omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Corollary 3.4. If we choose $g(t) = \ln t$ in Theorem 3.1, then we obtain following inequality for generalized Hadamard fractional integrals

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{4k\left(\ln \frac{b}{a}\right)^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega\left(\ln \frac{b}{a}\right)^\rho\right]} \left[\mathcal{H}_{\rho,\lambda,b-;\omega}^{\sigma,k} F(a) + \mathcal{H}_{\rho,\lambda,a+;\omega}^{\sigma,k} F(b) \right] \leq \frac{f(a)+f(b)}{2}$$

where $\lambda, \rho > 0, \omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Corollary 3.5. If we choose $g(t) = \frac{t^{s+1}}{s+1}, s \in \mathbb{R} - \{-1\}$ in Theorem 3.1, then we obtain following inequality for generalized (k, s) -fractional integrals

$$f\left(\frac{a+b}{2}\right) \leq \frac{(s+1)^{\frac{\lambda}{k}}}{4k(b^{s+1}-a^{s+1})^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega\left(\frac{b^{s+1}-a^{s+1}}{s+1}\right)^\rho\right]} \left[{}^s \mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k} F(a) + {}^s \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k} F(b) \right] \leq \frac{f(a)+f(b)}{2}$$

where $\lambda, \rho > 0, \omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Remark 3.6. If we choose $k = 1$ and $g(t) = t$ in Theorem 3.1, then we obtain following inequality for generalized fractional integral

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{2(b-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma \left[\omega(b-a)^\rho\right]} \left[\mathcal{J}_{\rho,\lambda,a+;\omega}^\sigma f(b) + \mathcal{J}_{\rho,\lambda,b-;\omega}^\sigma f(a) \right] \leq \frac{f(a)+f(b)}{2}$$

given by Yaldiz and Sarikaya in [20].

Remark 3.7. If we choose $k = 1, \lambda = \alpha, \sigma(0) = 1, w = 0$ in Theorem 3.1, then Theorem 3.1 reduces to Theorem 2.1 proved by Jleli and Samet in [9].

Remark 3.8. Choosing $\lambda = \alpha, \sigma(0) = 1, w = 0$ in Corollary 3.3, Corollary 3.4 and Corollary 3.5, one can obtain new result.

4. Trapezoid Type Inequalities for Generalized Fractional Integral Operators

In this section, we establish trapezoid type inequalities for the mappings whose derivatives in absolute value are convex involving generalized k -fractional integrals of a function with respect to the another function.

Lemma 4.1. Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping on (a, b) with $a < b$. If $f' \in L[a, b]$, then the following equality holds:

$$\begin{aligned} & \frac{f(a)+f(b)}{2} - \frac{1}{4k(g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega(g(b)-g(a))^\rho\right]} \left[\mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} F(a) + \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} F(b) \right] \\ &= \frac{b-a}{4(g(b)-g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega(g(b)-g(a))^\rho\right]} \int_0^1 \Xi_{\rho,\lambda,g}^{\sigma,k}(s) f'(sa+(1-s)b) ds \end{aligned}$$

where $\Xi_{\rho,\lambda,g}^{\sigma,k} : [0, 1] \rightarrow \mathbb{R}$ be a function defined by

$$\begin{aligned} \Xi_{\rho,\lambda,g}^{\sigma,k}(s) &= [g(sa+(1-s)b)-g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega(g(sa+(1-s)b)-g(a))^\rho\right] - [g(sb+(1-s)a)-g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega(g(sb+(1-s)a)-g(a))^\rho\right] \\ &\quad - [g(b)-g(sa+(1-s)b)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega(g(b)-g(sa+(1-s)b))^\rho\right] + [g(b)-g(sb+(1-s)a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega(g(b)-g(sb+(1-s)a))^\rho\right]. \end{aligned}$$

Proof. Since relation (3.1), we have

$$\mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} F(b) = (b-a) \int_0^1 \frac{g'((1-s)a+sb)}{[g(b)-g((1-s)a+sb)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} \left[\omega(g(b)-g((1-s)a+sb))^\rho\right] F(sb+(1-s)a) ds.$$

Using integration by parts

$$\begin{aligned} \mathcal{J}_{\rho,\lambda,a+;\omega}^{\sigma,k,g} F(b) &= k[g(b)-g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega(g(b)-g(a))^\rho\right] F(a) \\ &\quad + (b-a)k \int_0^1 [g(b)-g((1-s)a+sb)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} \left[\omega(g(b)-g((1-s)a+sb))^\rho\right] F'(sb+(1-s)a) ds. \end{aligned} \tag{4.1}$$

Similarly, using (3.2), we have

$$\mathcal{J}_{\rho,\lambda,b-;\omega}^{\sigma,k,g} F(a) = \int_0^1 \frac{(b-a)g'((1-s)a+sb)}{[g((1-s)a+sb)-g(a)]^{1-\frac{\lambda}{k}}} \mathcal{F}_{\rho,\lambda}^{\sigma,k} \left[\omega(g((1-s)a+sb)-g(a))^\rho\right] F(sb+(1-s)a) ds.$$

Using integration by parts

$$\begin{aligned} \mathcal{I}_{\rho, \lambda, b^-; \omega}^{\sigma, k, g} F(a) &= k [g(b) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g(b) - g(a))^\rho] F(b) \\ &\quad - (b-a)k \int_0^1 [g((1-s)a + sb) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g((1-s)a + sb) - g(a))^\rho] F'(sb + (1-s)a) ds. \end{aligned} \quad (4.2)$$

Adding (4.1) and (4.2) and using the relation $F(x) = f(x) + f(a+b-x)$, we find that

$$\begin{aligned} &\frac{4(g(b) - g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g(b) - g(a))^\rho]}{b-a} \left[\frac{f(a) + f(b)}{2} - \frac{1}{4k(g(b) - g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g(b) - g(a))^\rho]} \left[\mathcal{I}_{\rho, \lambda, b^-; \omega}^{\sigma, k, g} F(a) + \mathcal{I}_{\rho, \lambda, a^+; \omega}^{\sigma, k, g} F(b) \right] \right] \\ &= \int_0^1 [g((1-s)a + sb) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g((1-s)a + sb) - g(a))^\rho] F'(sb + (1-s)a) ds \\ &\quad - \int_0^1 [g(b) - g((1-s)a + sb)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g(b) - g((1-s)a + sb))^\rho] F'(sb + (1-s)a) ds. \end{aligned} \quad (4.3)$$

On the other hand, since $F'(x) = f'(x) - f'(a+b-x)$, we have

$$F'(sb + (1-s)a) = f'(sb + (1-s)a) - f'(sa + (1-s)b).$$

Then we obtain,

$$\begin{aligned} &\int_0^1 [g((1-s)a + sb) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g((1-s)a + sb) - g(a))^\rho] F'(sb + (1-s)a) ds \\ &= \int_0^1 [g((1-s)a + sb) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g((1-s)a + sb) - g(a))^\rho] f'(sb + (1-s)a) ds \\ &\quad - \int_0^1 [g((1-s)a + sb) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g((1-s)a + sb) - g(a))^\rho] f'(sa + (1-s)b) ds \\ &= \int_0^1 [g((1-s)a + sa) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g((1-s)b + sa) - g(a))^\rho] f'(sa + (1-s)b) ds \\ &\quad - \int_0^1 [g((1-s)a + sb) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega (g((1-s)a + sb) - g(a))^\rho] f'(sa + (1-s)b) ds. \end{aligned} \quad (4.4)$$

and

$$\begin{aligned}
 & \int_0^1 [g(b) - g((1-s)a + sb)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g((1-s)a + sb))^\rho] F'(sb + (1-s)a) ds \\
 &= \int_0^1 [g(b) - g((1-s)a + sb)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g((1-s)a + sb))^\rho] f'(sb + (1-s)a) ds \\
 & - \int_0^1 [g(b) - g((1-s)a + sb)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g((1-s)a + sb))^\rho] f'(sa + (1-s)b) ds \\
 &= \int_0^1 [g(b) - g((1-s)b + sa)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g((1-s)b + sa))^\rho] f'(sa + (1-s)b) ds \\
 & - \int_0^1 [g(b) - g((1-s)a + sb)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g((1-s)a + sb))^\rho] f'(sa + (1-s)b) ds.
 \end{aligned} \tag{4.5}$$

If we substitute (4.4) and (4.5) into (4.3), we obtain desired result. □

Theorem 4.2. *Let g be as the above. If $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping on (a, b) with $a < b$ and $|f'|$ is an convex function on $[a, b]$, then we have the inequality*

$$\begin{aligned}
 & \left| \frac{f(a) + f(b)}{2} - \frac{1}{4k(g(b) - g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]} \left[\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, k, g} F(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, k, g} F(b) \right] \right| \\
 & \leq \frac{I_{\rho, \lambda, g}^{\sigma, k}}{4(b-a)(g(b) - g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]} [|f'(a)| + |f'(b)|].
 \end{aligned}$$

where

$$I_{\rho, \lambda, g}^{\sigma, k} = L_{\rho, \lambda, g}^{\sigma, k}(b, b) + L_{\rho, \lambda, g}^{\sigma, k}(a, b) - L_{\rho, \lambda, g}^{\sigma, k}(b, a) - L_{\rho, \lambda, g}^{\sigma, k}(a, a)$$

and $L_{\rho, \lambda}^{\sigma, k}(x, y)$ is defined as

$$L_{\rho, \lambda, g}^{\sigma, k}(x, y) = \int_a^{\frac{a+b}{2}} |x-u| |g(y) - g(u)|^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega |g(y) - g(u)|^\rho] du - \int_{\frac{a+b}{2}}^b |x-u| |g(y) - g(u)|^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega |g(y) - g(u)|^\rho] du.$$

Proof. From Lemma 4.1 and using convexity of $|f'|$, we have

$$\begin{aligned}
 & \left| \frac{f(a) + f(b)}{2} - \frac{1}{4k(g(b) - g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]} \left[\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, k, g} F(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, k, g} F(b) \right] \right| \\
 & \leq \frac{b-a}{4(g(b) - g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]} \int_0^1 |\Xi_{\rho, \lambda, g}^{\sigma, k}(s)| |f'(sa + (1-s)b)| ds \\
 & \leq \frac{b-a}{4(g(b) - g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(g(b) - g(a))^\rho]} \left[|f'(a)| \int_0^1 s |\Xi_{\rho, \lambda, g}^{\sigma, k}(s)| ds + |f'(b)| \int_0^1 (1-s) |\Xi_{\rho, \lambda, g}^{\sigma, k}(s)| ds \right].
 \end{aligned} \tag{4.6}$$

Here, we have

$$\int_0^1 s |\Xi_{\rho, \lambda, g}^{\sigma, k}(s)| ds = \frac{1}{(b-a)^2} \int_a^b (b-u) |\varphi_{\rho, \lambda, g}^{\sigma, k}(u)| dt$$

where

$$\begin{aligned} \varphi_{\rho,\lambda,g}^{\sigma,k}(u) &= [g(u) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(u) - g(a))^\rho] - [g(a+b-u) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(a+b-u) - g(a))^\rho] \\ &\quad - [g(b) - g(u)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b) - g(u))^\rho] + [g(b) - g(a+b-u)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b) - g(a+b-u))^\rho]. \end{aligned}$$

Since g is an increasing function, $\varphi_{\rho,\lambda,g}^{\sigma,k}$ is a non-decreasing function on $[a, b]$. Additionally,

$$\varphi_{\rho,\lambda,g}^{\sigma,k}(a) = -2[g(b) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b) - g(a))^\rho] < 0$$

and

$$\varphi_{\rho,\lambda,g}^{\sigma,k}\left(\frac{a+b}{2}\right) = 0.$$

Consequently, we get

$$\begin{cases} \varphi_{\rho,\lambda,g}^{\sigma,k}(u) \leq 0 & \text{if } a \leq u \leq \frac{a+b}{2} \\ \varphi_{\rho,\lambda,g}^{\sigma,k}(u) > 0 & \text{if } \frac{a+b}{2} < u \leq b. \end{cases}$$

Therefore, we have

$$(b-a)^2 \int_0^1 s \left| \Xi_{\rho,\lambda,g}^{\sigma,k}(s) \right| ds = \int_a^b (b-u) \left| \varphi_{\rho,\lambda,g}^{\sigma,k}(u) \right| dt = I_1 + I_2 + I_3 + I_4$$

where

$$I_1 = \int_a^{\frac{a+b}{2}} (b-u) [g(b) - g(u)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b) - g(u))^\rho] du - \int_{\frac{a+b}{2}}^b (b-u) [g(b) - g(u)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b) - g(u))^\rho] du = L_{\rho,\lambda,g}^{\sigma,k}(b, b),$$

$$I_2 = - \int_a^{\frac{a+b}{2}} (b-u) [g(u) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(u) - g(a))^\rho] du + \int_{\frac{a+b}{2}}^b (b-u) [g(u) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(u) - g(a))^\rho] du = -L_{\rho,\lambda,g}^{\sigma,k}(b, a),$$

$$\begin{aligned} I_3 &= \int_a^{\frac{a+b}{2}} (b-u) [g(a+b-u) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(a+b-u) - g(a))^\rho] du \\ &\quad - \int_{\frac{a+b}{2}}^b (b-u) [g(a+b-u) - g(a)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(a+b-u) - g(a))^\rho] du = -L_{\rho,\lambda,g}^{\sigma,k}(a, a), \end{aligned}$$

and

$$\begin{aligned} I_4 &= - \int_a^{\frac{a+b}{2}} (b-u) [g(b) - g(a+b-u)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b) - g(a+b-u))^\rho] du \\ &\quad + \int_{\frac{a+b}{2}}^b (b-u) [g(b) - g(a+b-u)]^{\frac{\lambda}{k}} \mathcal{F}_{\rho,\lambda+k}^{\sigma,k} [\omega(g(b) - g(a+b-u))^\rho] du = L_{\rho,\lambda,g}^{\sigma,k}(a, b). \end{aligned}$$

Thus, from the previous equalities it follows that

$$\int_0^1 s \left| \Xi_{\rho,\lambda,g}^{\sigma,k}(s) \right| ds = \frac{L_{\rho,\lambda,g}^{\sigma,k}(b, b) + L_{\rho,\lambda,g}^{\sigma,k}(a, b) - L_{\rho,\lambda,g}^{\sigma,k}(b, a) - L_{\rho,\lambda,g}^{\sigma,k}(a, a)}{(b-a)^2}. \quad (4.7)$$

Similarly, it is clear that

$$\int_0^1 (1-s) \left| \Xi_{\rho,\lambda,g}^{\sigma,k}(s) \right| dt = \frac{L_{\rho,\lambda,g}^{\sigma,k}(b, b) + L_{\rho,\lambda,g}^{\sigma,k}(a, b) - L_{\rho,\lambda,g}^{\sigma,k}(b, a) - L_{\rho,\lambda,g}^{\sigma,k}(a, a)}{(b-a)^2}. \quad (4.8)$$

If we substitute equalities (4.7) and (4.8) in (4.6), we obtain the desired result. \square

Corollary 4.3. If we choose $k = 1$ in Theorem 4.2, then we obtain following inequality for generalized fractional integral with respect to the function

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{4k(g(b) - g(a))^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [\omega(g(b) - g(a))^\rho]} \left[\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, g} F(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, g} F(b) \right] \right|$$

$$\leq \frac{I_{\rho, \lambda, g}^\sigma}{4(b-a)(g(b) - g(a))^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+1}^\sigma [\omega(g(b) - g(a))^\rho]} [|f'(a)| + |f'(b)|]$$

where $\lambda, \rho > 0$, $\omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Corollary 4.4. If we choose $g(t) = t$ in Theorem 4.2, then we obtain following inequality for generalized k -fractional integrals

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{4k(b-a)^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(b-a)^\rho]} \left[\mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, k} F(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, k} F(b) \right] \right|$$

$$\leq \frac{I_{\rho, \lambda}^{\sigma, k}}{4(b-a)^{\frac{\lambda}{k}+1} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega(b-a)^\rho]} [|f'(a)| + |f'(b)|]$$

where $\lambda, \rho > 0$, $\omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Corollary 4.5. If we choose $g(t) = \ln t$ in Theorem 4.2, then we obtain following inequality for generalized Hadamard fractional integrals

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{4k \left(\ln \frac{b}{a}\right)^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega \left(\ln \frac{b}{a}\right)^\rho]} \left[\mathcal{H}_{\rho, \lambda, b-; \omega}^{\sigma, k} F(a) + \mathcal{H}_{\rho, \lambda, a+; \omega}^{\sigma, k} F(b) \right] \right|$$

$$\leq \frac{I_{\rho, \lambda, \ln}^{\sigma, k}}{4(b-a) \left(\ln \frac{b}{a}\right)^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} [\omega \left(\ln \frac{b}{a}\right)^\rho]} [|f'(a)| + |f'(b)|]$$

where $\lambda, \rho > 0$, $\omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Corollary 4.6. If we choose $g(t) = \frac{t^{s+1}}{s+1}$, $s \in \mathbb{R} - \{-1\}$ in Theorem 4.2, then we obtain following inequality for generalized (k, s) -fractional integrals

$$\left| \frac{f(a) + f(b)}{2} - \frac{(s+1)^{\frac{\lambda}{k}}}{4k(b^{s+1} - a^{s+1})^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} \left[\omega \left(\frac{b^{s+1} - a^{s+1}}{s+1}\right)^\rho\right]} \left[{}^s \mathcal{J}_{\rho, \lambda, b-; \omega}^{\sigma, k} F(a) + {}^s \mathcal{J}_{\rho, \lambda, a+; \omega}^{\sigma, k} F(b) \right] \right|$$

$$\leq \frac{(s+1)^{\frac{\lambda}{k}} I_{\rho, \lambda, s}^{\sigma, k}}{4(b-a)(b^{s+1} - a^{s+1})^{\frac{\lambda}{k}} \mathcal{F}_{\rho, \lambda+k}^{\sigma, k} \left[\omega \left(\frac{b^{s+1} - a^{s+1}}{s+1}\right)^\rho\right]} [|f'(a)| + |f'(b)|]$$

where $\lambda, \rho > 0$, $\omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Corollary 4.7. If we choose $k = 1$ and $g(t) = t$ in Theorem 4.2, then we obtain following inequality for generalized fractional integrals

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{2(b-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho]} \left[\mathcal{J}_{\rho, \lambda, b-; \omega}^\sigma f(a) + \mathcal{J}_{\rho, \lambda, a+; \omega}^\sigma f(b) \right] \right|$$

$$\leq (b-a) \frac{2^\lambda \mathcal{F}_{\rho, \lambda+2}^\sigma [w(b-a)^\rho] - \mathcal{F}_{\rho, \lambda+2}^\sigma \left[w \left(\frac{b-a}{2}\right)^\rho\right]}{2^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho]} \left[\frac{|f'(a)| + |f'(b)|}{2} \right]$$

where $\lambda, \rho > 0$, $\omega \in \mathbb{R}$ and the coefficients $\sigma(m)$ ($m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$) is a bounded sequence of positive real numbers.

Remark 4.8. If we choose $\lambda = \alpha$, $\sigma(0) = 1$, $w = 0$ in Corollary 4.7, then Corollary 4.7 reduces to Theorem 3 proved by Sarikaya et. al in [16].

Remark 4.9. If we choose $k = 1$, $\lambda = \alpha$, $\sigma(0) = 1$, $w = 0$ in Theorem 4.2, then Theorem 4.2 reduces to Theorem 2.5 proved by Jleli and Samet in [9].

Remark 4.10. Choosing $\lambda = \alpha$, $\sigma(0) = 1$, $w = 0$ in, Corollary 4.4, Corollary 4.5 and Corollary 4.6, one can obtain new result.

References

- [1] R. P. Agarwal, M.-J. Luo and R. K. Raina, *On Ostrowski type inequalities*, Fasciculi Mathematici, 204, De Gruyter, doi:10.1515/fascmath-2016-0001, 2016.
- [2] A. Akkurt, M. E. Yıldırım, and H. Yıldırım, *On some integral inequalities for (k, h) -Riemann-Liouville fractional integral*, New Trends in Mathematical Science, 4 (2016), no. 2, 138–138.
- [3] N. Alp, M.Z. Sarikaya, M. Kunt and İ. İşcan, *q -Hermite Hadamard inequalities and quantum estimates for midpoint type inequalities via convex and quasi-convex functions*, Journal of King Saud University –Science, 30(2)(2018),193-203.
- [4] H. Budak, F. Usta, M. Z. Sarikaya and M. E. Özdemir, *On generalization of midpoint type inequalities with generalized fractional integral operators*, RACSAM, 113 (2019), 769-790.
- [5] H. Budak, F. Usta and M. Z. Sarikaya, *Refinements of the Hermite–Hadamard inequality for co-ordinated convex mappings*, Journal of Applied Analysis, 25 (2019), 73-81.
- [6] R. Diaz and E. Pariguan, *On hypergeometric functions and Pochhammer k symbol*, Divulg.Math, 15 (2007), 179-192.
- [7] S. S. Dragomir and C. E. M. Pearce, *Selected Topics on Hermite-Hadamard Inequalities and Applications*, RGMIA Monographs, Victoria University, 2000.
- [8] F. Ertuğral, M.Z. Sarikaya and H. Budak, *On Refinements of Hermite-Hadamard-Fejér type inequalities for fractional integral operators*, Applications and Applied Mathematics: An International Journal, 13(1) (2018), 426-442.
- [9] M. Jleli and B. Samet, *On Hermite-Hadamard type inequalities via fractional integrals of a function with respect to another function*, J. Nonlinear Sci. Appl. 9 (2016), 1252-1260.
- [10] U. N. Katugampola, *New approach to a generalized fractional integral*, Appl. Math. Comput., 218, 860-865, (2011).
- [11] A. A. Kilbas, H.M. Srivastava and J.J. Trujillo, *Theory and Applications of Fractional Differential Equations*, Elsevier B.V., Amsterdam, Netherlands, 2006.
- [12] S. Mubeen and G. M. Habibullah, *k -Fractional integrals and applications*, International Journal of Contemporary Mathematical Sciences, 7(2012), 89–94.
- [13] J.E. Pečarić, F. Proschan and Y.L. Tong, *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, Boston, 1992.
- [14] R.K. Raina, *On generalized Wright's hypergeometric functions and fractional calculus operators*, East Asian Math. J., 21(2) (2005), 191-203.
- [15] M. Z. Sarikaya, Z. Dahmani, M. E. Kiris and F. Ahmad, *(k, s) -Riemann-Liouville fractional integral and applications*, Hacettepe Journal of Mathematics and Statistics, 45(1) (2016), 77–89.
- [16] M.Z. Sarikaya, E. Set, H. Yaldiz and N., Basak, *Hermite -Hadamard's inequalities for fractional integrals and related fractional inequalities*, Mathematical and Computer Modelling, DOI:10.1016/j.mcm.2011.12.048, 57 (2013) 2403–2407.
- [17] M. Z. Sarikaya, H. Budak and F. Usta, *Some generalized integral inequalities via fractional integrals*, Acta Math. Univ. Comenianae, LXXXIX(1) (2020), 27-38.
- [18] T. Tunç and M. Z. Sarikaya, *On Hermite-Hadamard type inequalities via fractional integral operators*, Filomat, 33(3), 837-854.
- [19] F. Usta, H. Budak, M. Z. Sarikaya and E. Set, *On generalization of trapezoid type inequalities for s -convex functions with generalized fractional integral operators*, Filomat, 32(6) (2018), 2153-2171.
- [20] H. Yaldiz and M. Z. Sarikaya, *On Hermite-Hadamard type inequalities for fractional integral operators*, ResearchGate Article, Available online at: <https://www.researchgate.net/publication/309824275>.